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Exercise 1:

The distinction between fixed costs and variable costs is an extremely important concept

in managerial accounting. For each of the following phrases, indicate if the phrase is more closely related
to fixed costs (FIX) or to variable costs (VAR) in reference to the number of units produced.

VAR
VAR

EIX
EX
Ex

Exercise 2:

h.

‘.kidlké\fgsu C)Lj?\er°°
labor sewing garments in a garment factory

changes in total when the level of production changes
T

%A‘M R N

w calculated ~g’the stralght line method (&4.1“6 \)4'\'10!.. (Rued) o,

. Boolz Ueleo ¢ Zf_‘-‘J“"" %5

insurance

changes on a per unit basis

security at

does not change in total when the level of prpduction changes

ingredients used to manufacture a food prqduct (a(l‘pm "\qi'eﬂqls)

does not change on a per unit basis when the level of production

changes

ospital wants to estlmate the cost for each patient stay. I




¥ Exercise 1.

US Systems Inc., had the following activities during 2018,

Direct materials,

Beginning inventory $ 24,000
Purchases 61,600
Ending inventory 11,000
Direct manufacturing labor 18,000
Manufacturing overhead 11,500
Bcginning work-in-process inventory 1,000
Ending work-in-process inventory 3,500
Beginning finished goods inventory 25,000
Ending finished goods inventory 19,000

Required:
a. What is the cost of direct materials used during 20187
b. What is cost of goods manufactured for 20187

c. What is cost of goods sold for 20187

/D OM used 2 B @lm)mé mu. + Rachage
Q‘{OOO 52 al &0 NOOO
’ 7q.roo



_—

ysing the following information find the unknown amounts. Assume each set of information is an

independent case

a Merchandise Inventory Purchases $210,000
Cost of goods sold 223,000
Beginning balance 41,000
Ending balance 7

b. Direct Materials Beginning balance $ 7,000
Ending balance 14,000
Purchases 48,000
Direct materials used ?

c. Work-in-process Inventory  Ending balance $ 22,000
Cost of goods manufactured 21,000
Beginning balance 8,000
Current manufacturing costs /5

d. Finished Goods Inventory Cost of goods manufactured $62,000
Ending balance 20,000
Cost of goods sold 61,000 s
Beginning balance ? } y

D By Evv:(mg c- Gl o
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8000 + 7 - 24000 = 21 goo

“{Ygoo + P =21000
x |{00° +1400°

Tovd wan 4o£w”\3 35 002

’?Wﬂj balance + £ . mmn%loddb"*@ Lol Babnan = ;- 6
@ h\ +6Q,OOO ¢ 20090 = {/M )

? + "fQO O = 5/000
pod —HM20ee

’——%B@ﬁlnnﬁ Balonce = 19000
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r Manutacturing Comp;
- S “ompany had the following accoynt balances for the quarter ending March 31
:)q feb 1300000
Work-in-process inventory (January I) $ 140,400 & Bes‘,m‘,‘,\j Bq\thz
Work-in-process inventory (March 31) 171,000 £ Emlwg Balance
Finished goods inventory (January 1) 540,000
Finished goods inventory (March 31) 510,000
Direct materials used 378.000
—Indirect materials used 84,000 MO ”’ -~ {Y000
Direct manufacturing labor 480,000 + (&€ 000
—Indirect manufacturing labor 186,000 28 8oo
FProperty taxes on manufacturing plant building 28,800 264000
ta—rlp):)\%) Salespersons' company vehicle costs 12,000 \?76 ooF
Depreciation of manufacturing equipment 264,000 q ZL{OO
Depreciation of office equipment 123,600 :,7qo 260
Miscellaneous fant overhead & 135,000
-Plant utilities 92,400
General office expenses 305,400
Marketing distribution costs 30,000

Pt 2 S Gl %)

Required. Prepare a partial income statement for the quarter ending March 31.
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